GlacialTech®
Eﬁ&f&'{u‘ Vour Hamdy .

Installatlon Instructions for Surface Mount Pan
R TR & 52 1B AE S

Photograph Description

B -
(L BU2BAE*2 / I M*2 / M3.5 BIR44*8 /
M5 SHAZ IR #4*6)

Gather parts for frame assembly
(L shape bracket x2 / Side bracket x2 /
M3.5 screw x8 / M5 screw x6)

fEEF M3.5 1244 - BBRISREETE L BEEMmR -
—3i2{EF 4PCS - #23L 8PCS

Use M3.5 screws to attach side brackets to L shape
brackets. Each side bracket attaches with 4 screws
(2 per corner), for a total of 8§ screws.

36 ESEAL -

Frame assembly completed.

Fuch
£

.................

GlacialTech®  GlacialStars Power Your Idea sy sy oo



K. GlacialTech®

R M5 SEAG IR 4418 IRTEHE SR 1E RTEAR S AS T
. —¥#8EH 3PCS - &3 6PCS -

Use M5 screws to attach the frame to a ceiling or
wall. 3 screws are used per side for a total of 6
SCTeWws.

BN —2 A= -

Remove one side bracket.

P IEEREEEBARA -

Connect the driver with the panel light, then slide
the panel light into the groove in the L-shaped
brackets.

T e =

e HH“M__%__ e

GlacialTech® GlacialStars Powerourkdea ~ Urtervraime: poieri gt _— )



" GlacialTech®

R AR E R B E E -

Push the panel light to the bottom of the frame and
make sure it is seated well.

BiFE MRIENRELEE - BI5eR -

Screw the side bracket back on.
Installation complete!

a2 b

GlacialTech® GlacialStars Powerour ldea ! #ATew e Abmare Glfflf.',ﬁf.l.‘"



